Câu 1:  [0D4-5.10-2] (GK2 - K10 - THPT Nguyễn Trường Tộ - Huế - Năm 2020 - 2021) Giải bất phương trình 
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Lời giải
Ta có: 
[image: image2.wmf](

)

(

)

(

)

(

)

222

2

2

10

12121110

211

x

xxxxx

xx

ì

+³

ï

ï

+³-Û-£+Û-³

í

ï

-£+

ï

î



[image: image3.wmf](

)

22

1

;11;

2221

x

x

xxx

ì

³-

ï

ùé

ÛÎ-¥-È+¥

í

ûë

ï

-£++

î



 EMBED Equation.DSMT4 [image: image4.wmf])

{

}

)

{

}

{

}

2

1;1

1;1

1;31.

1;3

230

x

x

x

x

xx

ì

ì

é

Î+¥È-

é

Î+¥È-

ïï

ë

ë

éù

ÛÛÛÎÈ-

íí

ëû

éù

Î-

--£

ï

ï

ëû

î

î


Vậy tập nghiệm bất phương trình đã cho là 
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